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1. _ Algorithm
2. __ Abstraction
3. Generalization
4. _  GQGate
5. __ Flip-Flop
6. _ Buffer
7. ___ Overflow
8. _  Cdl
9. ____ Real-time processing
10 Kernel
11. ____ Virtual memory
12. _ Scheduler
13.  Bus
14._ DNS
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2. (25%) Draw a diagram representing how the tree below appears in memory when stored using the left and
right child pointers, a.k.a. Double Linked List. Then, draw another diagram showing how the tree would
appear in contiguous storage using the alternative storage system such as an array.
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3. (8%) A process that is waiting for a time slice is said to suffer starvation if it is never given a time slice. How,
would you guess, do many operating systems avoid this problem?
— B A — B R 45 CPU 855 4% A ALtk(starvation) o 35 B 4E ¥ 4 % do o7 8 RAVHE ] AR ?

4. (25%) If the message
XXy YVZ XXy XXyy
were compressed using LZW with a starting dictionary whose first, second, and third entries were x, y, and
space, respectively, what would be the entries in the final dictionary?
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